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Find the lateral
surface area of a
cube that has o
height of 6 m.

3(0 X b= 20

Alb-~ F2 = @

#* Lateral surface area -
ail +he sides,not inc it

the base g he top -

Find the lateral surface area.
(ot shaded
svdes)

2(bxd)4 aldxit) =
4 + 150 =

&4 |
 S——

® Find the total surface orea.
2(12x3)+ 2 (3x2)+ 2 (12x2) =

2 + 124 HEg = 1/52

{
|

| 12 cm.

3 cm.

2 cm.

@ 2 (5.2x83)+ (8.3 x9.1)+2(52x9.1)°
$6.-32 + |51.0+ QH.0H =

332.09 = ‘339.[

Find the surface area of
a rectangular prism if
the length is 5.2 cm, the
width is 8.3 cm, and the

height is 9.1 cm.

@ 2(3x4) + a(3xH) + aw(:axa)
AH + 2H—+IS’21(;0§




l @ 2(4x20) + 2 (15x%)
!I + @70 =

Bob is painting a room 360

 that is 20 r. long, 15 1. 630
 wide, and 9 ft. high. How
many square feet is Bob ¥ Pemember: y‘“‘ dorit
going to paint? paint the floor!

q The total arec of the @
rectangulor prism is 112

in? -What is the value of x?

al3ca) + 2lax)+ a(3x) = &

Ql6) + Hx + bx = 1~
) ¥ + 10x = &
"lb‘ - /Ll -

10 x =100 ;(:f_é{]

““"2,'?;'33352'2‘222‘13{“ @ ala.x32) + a(al x &:4)
s (554 + 22.68 =

38 2

|3.7 cm.

54.cm. " ~J /2.1 cm.

Find the surface area of the box @
excluding the shaded base.

@ 2098 2.3) + a (2x 9.8
52.92 + 39.2 =




Find the total surface area. @
ala0x6)+ albxt)+2(20x6)7

P 2
; /|

| Pl
| i,_ ~’/m.
6 m.

length=29 @ Q\(gqxg.s)-f;(:t?x ?)—t 2(3.5x7~):
Width = 3.5 203 + Hob * 49 = Zé)j’S’i

Height = 7

Find the total surface
area of the rectangular
_prism.

@ 2(Gx13) 2(9x2) + 2(13x2) =
234 + 36+ 51= 322

322 - bottor (117) = 1205 |

# Remember: you do nef
frost fhe bottomnof a cai

Cara bakes a rectangular
cake that is 9 inches wide,
13 inches long, and 2 inches
high. She removes the coke
from the pan to frost if. How
many square inches of
frosting does she need?

" Find the total surface area.

@ 20101 x2.5)+ a(2.5x4) 2(10.1x4)
50.5 + &0 -+ $0.%

i~ sm
D B
The surface area of a box is @ 542 = A (12x10)+ 2 (10x) + 2(12x)
592 meters squared. The 592 = p(12e) + 20% + 39X
base of the box is 12 592 = 9% + 44 x
meters by 10 meters. What ~-240. -0
is the height of the box?
g o 352 = YH X
— k=5 |




